Thomas S Hays	HALDEMAN'S ADDITION EX W 10 FT	Mill and Overlay - Residential	17.02	149.00	\$2,535.98	02-28-23-34-0023
Mary E Porter	LOT 28 BLK 1				\$2,535.98	
865 Fairmount Ave		*** Owner and Taxpayer ***				
St Paul MN 55105-3118						
*865 FAIRMOUNT AVE		Total Assess	sment:		\$2,535.98	
*Ward: 2		This Payme	nt:		\$0.00	
*Pending as of: 12/31/2018		Current Yea	ır Principal:		\$0.00	
		Current Yea	ır Interest:		\$0.00	
		Payoff Amo	ount:		\$2,535.98	

Resolution #:

Owner or Taxpayer	Property Description	Item Description	Ī	Jnit Rate	Quantity	Charge Amts	Property ID
Matthew Russell	HALDEMAN'S ADDITION EX W 10 FT	Mill and Overlay - Res	sidential	17.02	148.00	\$2,518.96	02-28-23-34-0001
Jane B Russell	LOT 1 BLK 1				=	\$2,518.96	
862 Goodrich Ave St Paul MN 55105-3124		*** Owner and Taxpay	/er ***				
*862 GOODRICH AVE		-	Total Assessi	ment:		\$2,518.96	
*Ward: 2			This Paymen			\$0.00	
*Pending as of: 12/31/2018			Current Year			\$0.00	
		(Current Year	Interest:		\$0.00	
		I	Payoff Amou	unt:		\$2,518.96	
East Mall Associates	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - Con	mmercia	17.02	150.00	\$2,553.00	02-28-23-42-0125
857 Grand Ave	PAUL IN RAMSEY COUNTY,			17.02	=	\$2,553.00	02-20-23-42-0125
St Paul MN 55105-3377 *843 GRAND AVE	MINNESOTA LOTS 15 16 17 AND LOT 18 BLK 18	*** Owner and Taxpayer ***				\$2,333.00	
*Ward: 2		-	Total Assessi	ment:		\$2,553.00	
*Pending as of: 12/31/2018		٦	This Paymen	t:		\$0.00	
		Current Year Principal: Current Year Interest:				\$0.00	
						\$0.00	
		Payoff Amount:			\$2,553.00		
Vc South Mall Llc	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - Con	mmercia	17.02	0.00	\$0.00	02-28-23-42-0202
C/O Tax Admin	PAUL IN RAMSEY COUNTY,	Mill and Overlay - Res		17.02	150.00	\$2,553.00	02 20 25 42 0202
275 East Broad	MINNESOTA VAC ST & ALLEY IN DOC NO 2205651 ACCRUING & FOL; LOTS				=	\$2,553.00	
Columbus OH 43215-3703	12 THRU 14 BLK 17	*** Owner and Taxpay	/er ***			* 9	
*850 GRAND AVE		<u>-</u>					
*Ward: 2		7	Total Assessi	ment:		\$2,553.00	
*Pending as of: 12/31/2018			This Paymen			\$0.00	
			Current Year	•		\$0.00	
			Current Year			\$0.00	
		I	Payoff Amou	unt:		\$2,553.00	

Ratification Date: Resolution #: Owner or Taxpayer **Property Description Item Description Unit Rate Quantity Charge Amts Property ID** SUMMIT PARK ADDITION TO ST. Mill and Overlay - Commercia 17.02 0.00 \$0.00 Grand Place Llc 02-28-23-31-0140 PAUL IN RAMSEY COUNTY, Mill and Overlay - Residential 17.02 174.00 \$2,961.48 C/O Tax Admin MINNESOTA LOTS 1 THRU LOT 6 BLK 275 East Broad \$2,961.48 23 JOSEPH P DYSARTS RE AND IN SD Columbus OH 43215-3703 SUMMIT PARK ADD LOTS 3 THRU *** Owner and Taxpayer *** LOT 6 BLK 23 *860 GRAND AVE Total Assessment: \$2,961.48 *Ward: 2 *Pending as of: 12/31/2018 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 \$2,961.48 **Payoff Amount:** 17.02 SUMMIT PARK ADDITION TO ST. Mill and Overlay - Residential 150.00 \$2,553.00 Robert Bloomer Jr 02-28-23-42-0187 PAUL IN RAMSEY COUNTY, 854 Lincoln Ave \$2,553.00 MINNESOTA LOT 14 BLK 16 St Paul MN 55105-3349 *** Owner and Taxpayer *** *854 LINCOLN AVE *Ward: 2 Total Assessment: \$2,553.00 *Pending as of: 12/31/2018 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$2,553.00 Mill and Overlay - Residential 17.02 \$2,553.00 Daniel J Sullivan 150.00 SUMMIT PARK ADDITION TO ST. 02-28-23-42-0167 PAUL IN RAMSEY COUNTY. Becky L Erickson \$2,553.00 MINNESOTA W 50 FT OF LOT 15 BLK 857 Lincoln Ave *** Owner and Taxpayer *** 17 St Paul MN 55105-3350 *857 LINCOLN AVE Total Assessment: \$2,553.00 *Ward: 2 This Payment: \$0.00 *Pending as of: 12/31/2018 Current Year Principal: \$0.00 Current Year Interest: \$0.00

Payoff Amount:

\$2,553.00

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
udith H Miller	APARTMENT OWNERSHIP NO 6 UNIT 101	Mill and Overlay - Commerc		0.00	\$0.00	02-28-23-43-0175
354 Linwood Ave Unit 101	101	Mill and Overlay - Residenti	al 17.02	18.37	\$312.66	
St Paul MN 55105-3357		*** Owner and Taxpayer ***	•		\$312.66	
*854 LINWOOD AVE 101 Ward: 2		Owner and Taxpayer				
Pending as of: 12/31/2018		Total	Assessment:		\$312.66	
1 chang as of. 12/31/2010			ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$312.66	
Kevin Fenelon	EVERGREEN PLACE ST. PAUL,	Mill and Overlay - Residenti	al 17.02	100.00	\$1,702.00	02-28-23-43-0153
859 Linwood Ave	RAMSEY COUNTY, MINNESOTA W 10		ui 17.02	100.00		02-28-23-43-0153
St Paul MN 55105-3325	FT OF LOT 13 AND ALL OF LOTS 14 AND LOT 15 BLK 2	*** Owner and Taxpayer ***	:		\$1,702.00	
*859 LINWOOD AVE	AND EOT 13 BEK 2	o wher and ranpayer				
Ward: 2		Total	Assessment:		\$1,702.00	
Pending as of: 12/31/2018		This P	ayment:		\$0.00	
		Curren	nt Year Principal:		\$0.00	
		Curren	nt Year Interest:		\$0.00	
		Payof	f Amount:		\$1,702.00	
Dennis J Thalhuber	KIDD'S REARRANGEMENT OF BLKS.	Mill and Overlay - Residenti	al 17.02	103.00	\$1,753.06	02-28-23-34-0073
Mary P Thalhuber	5 & 6 HALDEMAN'S ADDITION TO	Tim una Overlay Residents	17.02	=		02-20-23-34-00/3
62 Linwood Ave	THE CITY OF ST. PAUL LOT 1 BLK 4	*** Owner and Taxpayer ***	•		\$1,753.06	
t Paul MN 55105-3202		5 mior una ranpuyor				
862 LINWOOD AVE		Total .	Assessment:		\$1,753.06	
Ward: 2			ayment:		\$0.00	
Pending as of: 12/31/2018			nt Year Principal:		\$0.00	
		Curren	nt Year Interest:		\$0.00	
		Pavof	f Amount:		\$1,753.06	

Resolution #: **Ratification Date:**

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Joshua J Hamann	KIDD'S REARRANGEMENT OF BLKS.	Mill and Overlay - F	Residential	17.02	104.00	\$1,770.08	02-28-23-34-0072
863 Linwood Ave	5 & 6 HALDEMAN'S ADDITION TO THE CITY OF ST. PAUL LOT 30 BLK 1					\$1,770.08	
St Paul MN 55105-3203		*** Owner and Taxp	payer ***				
*863 LINWOOD AVE *Ward: 2			Total Asse	cement:		\$1,770.08	
*Pending as of: 12/31/2018			This Paym			\$0.00	
1 chang as of . 12/3 // 2010			-	ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff An			\$1,770.08	
Mark P Staloch	NOBLE'S REARRANGEMENT OF LOTS	Mill and Overlay - F	Residential	17.02	85.00	\$1,446.70	02-28-23-43-0140
Heidi L Staloch	12, 13, & 14 BLOCK 13, SUMMIT PARK ADDITION TO THE CITY OF ST. PAUL				=	\$1,446.70	
856 Osceola Av	W 50 FT OF LOTS 1 AND LOT 2	*** Owner and Taxp	payer ***			•	
St Paul MN 55105-3328							
*856 OSCEOLA AVE			Total Asse			\$1,446.70	
*Ward: 2			This Paym			\$0.00	
*Pending as of: 12/31/2018				ar Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff An	iount:		\$1,446.70	
Christina R Anderson	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - F	Pesidential	17.02	150.00	\$2,553.00	02-28-23-43-0118
Simon Taghioff	PAUL IN RAMSEY COUNTY,	Williama Overlay - I	Coldential	17.02	130.00		02-28-23-43-0118
859 Osceola Ave	MINNESOTA LOT 15 BLK 14	*** Owner and Tax	payer ***			\$2,553.00	
St Paul MN 55105-3329		•					
*859 OSCEOLA AVE			Total Asse	ssment:		\$2,553.00	
*Ward: 2			This Paym	ent:		\$0.00	
*Pending as of: 12/31/2018			Current Yo	ar Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff An	nount:		\$2,553.00	

13:00:42 6/10/2019	Public Improvement Assessment Roll	by Address (Fee to Asmt) Pr Ratification Date: Resolut	-	Assmt: 185505	5 Manager: LM	Pag
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
David A Preus	HALDEMAN'S ADDITION LOT 28 BLK 4	Mill and Overlay - Residentia	17.02	149.00	\$2,535.98	02-28-23-34-0044
Carmenza Duque Preus	BLK 4				\$2,535.98	
863 Osceola Ave St Paul MN 55105-3209		*** Owner and Taxpayer ***				
*863 OSCEOLA AVE		Total A	ssessment:		\$2,535.98	
*Ward: 2		This Pa	yment:		\$0.00	
*Pending as of: 12/31/2018			Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$2,535.98	
Barbara Vellenga	APARTMENT OWNERSHIP NO 6 UNIT	Mill and Overlay - Commerci	a 17.02	0.00	\$0.00	02-28-23-43-0177
855 St Clair Ave	NO 103	Mill and Overlay - Residentia		18.37	\$312.66	02 20 25 45 0177
St Paul MN 55105-3277				=	\$312.66	
*855 ST CLAIR AVE 103 *Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 12/31/2018			ssessment:		\$312.66	
		This Pa	-		\$0.00	
			Year Principal:	\$0.00		
			Year Interest:		\$0.00	
		Payott	Amount:		\$312.66	
Steven E Frias	APARTMENT OWNERSHIP NO 6 UNIT	Mill and Overlay - Commerci		0.00	\$0.00	02-28-23-43-0178
Lorraine Frias	NO 104	Mill and Overlay - Residentia	1 17.02	18.37	\$312.66	
855 St Clair Ave Unit 104				_	\$312.66	
St Paul MN 55105-3277 *855 ST CLAIR AVE 104		*** Owner and Taxpayer ***				
*Ward: 2		Total A	ssessment:		\$312.66	
*Pending as of: 12/31/2018		This Pa	•		\$0.00	
			** *		40.00	

Current Year Principal:

Current Year Interest:

Payoff Amount:

\$0.00

\$0.00 \$312.66

Current Year Interest:

Payoff Amount:

\$0.00

\$2,910.42

Resolution #:

Page 8

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Cheryl A Durant	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - Re	esidential	17.02	60.00	\$1,021.20	02-28-23-31-0062
107 Victoria St S	PAUL IN RAMSEY COUNTY, MINNESOTA N 60 FT OF LOT 28 BLK				_	\$1,021.20	
St Paul MN 55105-3105	24	*** Owner and Taxpa	yer ***				
*107 VICTORIA ST S			T 1 .			#1 021 20	
*Ward: 2			Total Asses			\$1,021.20	
*Pending as of: 12/31/2018			This Payme			\$0.00	
			Current Ye	ar Principal:		\$0.00 \$0.00	
			Payoff Am			\$0.00 \$1,021.20	
			1 ay on 7 m	ount.		Ψ1,021,20	
Michael J Brennan	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - Re	esidential	17.02	150.00	\$2,553.00	02-28-23-42-0188
Kari Houtkooper Brennan	PAUL IN RAMSEY COUNTY, MINNESOTA LOT 15 BLK 16				=	\$2,553.00	
112 Victoria St S St Paul MN 55105-3106	MINNESOTA LOT 15 BLK 10	*** Owner and Taxpa	ıyer ***			Ψ 2 ,εεεσσ	
*112 VICTORIA ST S			Total Asses	sment:		\$2,553.00	
*Ward: 2			This Payme	ent:		\$0.00	
*Pending as of: 12/31/2018			Current Ye	ar Principal:		\$0.00	
			Current Ye	ar Interest:		\$0.00	
			Payoff Am	ount:		\$2,553.00	
Nadya R Nedelsky	APARTMENT OWNERSHIP NO 37 THE	Mill and Overlay - Re	esidential	17.02	18.75	\$319.13	02-28-23-43-0085
Martin W Schmutterer	VICTORIA CONDOMINIUM UNIT NO	ivini una o verag	William Overlay - Residential 17.02			\$319.13	02-20-23-43-0003
134 Victoria St 1 St Paul MN 55105-3172	1-S	*** Owner and Taxpa	ıyer ***			\$319.13	
*134 VICTORIA ST S 1-S			Total Asses	sment:		\$319.13	
*Ward: 2			This Payme			\$0.00	
*Pending as of: 12/31/2018				ar Principal:		\$0.00	
			Current Ye	-		\$0.00	
			Payoff Am	ount.		\$319.13	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: MO1807 Assmt: 185505 Manager: LM #:

Ratification	Date:	Resolution #

Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Lorie Gibson	APARTMENT OWNERSHIP NO 37 THE	Mill and Overlay - Res	sidential	17.02	18.75	\$319.13	02-28-23-43-0086
Robert Gibson	VICTORIA CONDOMINIUM UNIT NO 2-S				_	\$319.13	
134 Victoria St S Unit 2-S		*** Owner and Taxpay	yer ***				
St Paul MN 55105-3182 *134 VICTORIA ST S 2-S			Total Assess	emant:		\$319.13	
*Ward: 2			This Payme			\$0.00	
*Pending as of: 12/31/2018			Current Yea			\$0.00	
1 chang as of. 12/3 // 2010			Current Yea	•		\$0.00	
			Payoff Amo			\$319.13	
Susan Buzenberg	APARTMENT OWNERSHIP NO 37 THE	Mill and Overlay - Res	sidential	17.02	18.75	\$319.13	02-28-23-43-0087
134 Victoria St S #3s	VICTORIA CONDOMINIUM UNIT NO 3-S			_	\$319.13		
St Paul MN 55105-3172	5-5	*** Owner and Taxpayer ***					
*134 VICTORIA ST S 3S							
*Ward: 2			Total Assess			\$207.32	
*Pending as of: 12/31/2018			This Payme			\$0.00	
			Current Yea	•		\$0.00	
				Year Interest:		\$0.00	
			Payoff Amo	ount:		\$207.32	
Richard Dougherty	APARTMENT OWNERSHIP NO 37 THE	Mill and Overlay - Res	sidential	17.02	18.75	\$319.13	02 20 22 42 0000
Patricia Dougherty	VICTORIA CONDOMINIUM UNIT NO	Mill and Overlay - Residential 17.02 13			18.73	\$319.13	02-28-23-43-0088
134 Victoria St S Unit 4s	4-S	*** Owner and Taxpay	*** 0				
St Paul MN 55105-3172		Owner and Taxpay	yeı				
*134 VICTORIA ST S 4S			Total Assess	sment:		\$319.13	
*Ward: 2			This Payme			\$0.00	
*Pending as of: 12/31/2018			Current Yea			\$0.00	
-			Current Yea	-		\$0.00	
			Payoff Amo	aunt•		\$319.13	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Chris Carlson	NOBLE'S REARRANGEMENT OF LOTS	Mill and Overlay - Ro	esidential	17.02	45.00	\$765.90	02-28-23-43-0144
210 Victoria St S	12, 13, & 14 BLOCK 13, SUMMIT PARK ADDITION TO THE CITY OF ST. PAUL				=	\$765.90	
St Paul MN 55105-3218	LOT 5	*** Owner and Taxpa	ayer ***				
*210 VICTORIA ST S							
*Ward: 2			Total Asse			\$765.90	
*Pending as of: 12/31/2018			This Paym			\$0.00	
				ear Principal:		\$0.00	
			Current Ye			\$0.00	
			Payoff An	ount:		\$765.90	
John Wanglar	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - Co	ommercia	17.02	79.00	\$1,344.58	02 20 22 42 0124
John Wengler	PAUL IN RAMSEY COUNTY,	Willi and Overlay - Co	Ollillercia	17.02	79.00		02-28-23-42-0124
William Wengler 972 Lincoln Ave	MINNESOTA S 80 FT OF LOTS 13 AND LOT 14 BLK 18	*** Owner and Taxpa	ayer ***	\$1,344.58			
St Paul MN 55105-3148 *26 VICTORIA ST S			Total Asse	ssment:		\$1,344.58	
*Ward: 2			This Paym	ent:		\$0.00	
*Pending as of: 12/31/2018			Current Ye	ear Principal:		\$0.00	
			Current Ye	ear Interest:		\$0.00	
			Payoff An	ount:		\$1,344.58	
Vc West Mall Llc	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - Co	ommercia	17.02	149.00	\$2,535.98	02 20 22 21 0015
C/O Tax Admin	PAUL IN RAMSEY COUNTY,	will and Overlay - Co	Ommercia	17.02	=		02-28-23-31-0015
275 East Broad Columbus OH 43215-3703	MINNESOTA ALL OF LOTS 26, 27, & LOT 28 BLK 22	*** Owner and Taxpa	ayer ***			\$2,535.98	
*41 VICTORIA ST S			Total Asse	ssment:		\$2,535.98	
*Ward: 2			This Paym			\$0.00	
*Pending as of: 12/31/2018			-	ar Principal:		\$0.00	
-			Current Ye	-		\$0.00	
			Payoff An	4 .		\$2,535.98	

Ratification Date:

Resolution #:

	r	Natification Date. Resol	utivii #.			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kathleen E Hull	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - Resident	ial 17.02	47.00	\$799.94	02-28-23-31-0037
Kathryn M Hansen	PAUL IN RAMSEY COUNTY, MINNESOTA N 50 FT OF S 108 FT OF			_	\$799.94	
75 Victoria St S	LOTS 27 AND LOT 28 BLK 23	*** Owner and Taxpayer **	*			
St Paul MN 55105-3160						
*75 VICTORIA ST S		Total	Assessment:		\$799.94	
*Ward: 2		This I	Payment:		\$0.00	
*Pending as of: 12/31/2018		Curre	nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payo	ff Amount:		\$799.94	
Deanne M Gieser Paul T Gieser 81 Victoria St S St Paul MN 55105-3160 *81 VICTORIA ST S *Ward: 2 *Pending as of: 12/31/2018	SUMMIT PARK ADDITION TO ST. PAUL IN RAMSEY COUNTY, MINNESOTA S 58 FT OF LOTS 27 AND LOT 28 BLK 23	This i Curre Curre		58.00 =	\$987.16 \$987.16 \$987.16 \$0.00 \$0.00 \$0.00 \$987.16	02-28-23-31-0036
Report Totals:		_				
32 Parcel(s) 0 Cert. Exempt Parcel(s)			l Assessment: Payment:		\$51,637.19 \$0.00	
o Cert. Exempt 1 arcei(s)			rayment: ent Year Princip	al·	\$0.00 \$0.00	
			ent Year Interes		\$0.00 \$0.00	
		Payo	ff Amount:		\$51,637.19	